
Jednotky napětí: 

1 kV = 1000 V      1 V = 0,001 kV 

1 V = 1000 mV      1 mV = 0,001 V 

Převeď na dané jednotky: 

 

2,5 V =     mV  

15 V =    kV 

0,68 V =     mV 

0,36 kV =    V 

 

 

42 mV =    V 

1367 V =    kV 

32 563 mV =   V 

0,025 V =    mV 

 

 

93 V =    kV 

28 V =    mV 

46,9 mV =    V 

555 mV =    V 

 

 

0,000 56 kV =    V 

25,8 kV =    V 

3 kV =    V 

42 kV =    mV 

 

 

2,4 kV =     mV 

0,006 kV =   V 

0,004 2 kV =   V 

300 kV =    V 

 

 

81 mV =    V 

6725 V =    kV 

913 428 mV =   V 

0,089 V =    mV 

 

 

11 V =    kV 

79 V =    mV 

28,95 mV =   V 

423 mV =    V 

 

 

0,000 06 kV =    V 

437,8 kV =   V 

5 kV =    V 

71,26 kV =   mV 


